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1.Find ig, iy, and i; in the circuit Fig. 1. Telvf:g !
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2.a) Find no load value of V, in the circuit Eig:2.

b) Find V, when R; = 150 kQ.

) What are the value of V4 and V; for part b),

d) How much power dissipated in the 25kQ and 75kQ resistors if the load
terminals are accidentally short — circuited.

e) What is the maximum power dissipated in the 25kQ and 75kq, resistors,
and for what value of R;. — 'L
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3.The ladder network has infinite number of resistors. stor |

a) Find R.q of the circuit and I, in terms of Vg and R. :el\il
b) If Vs = 10V and R = 1kQ,what are I,I5, Iy, and I,. e
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5.Find the THEVENIN equivalent circuit with respsect to the terminals q p s
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(Hint: define the voltage at the left most node as V,, then write two nodal equations
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6.The switch in the circuit shown has been open for a long time.
The initial voltage V (07) = 0. We close the switchatt = 0. Find:
a) i(t) fort=0*.

b) v(t) fort=0".
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7.For the circuit in figure below, v
C=0.2pF,L

0% =12V and i,(0%) = 30 ma.

=50mH,and R = 200Q.

a) Find the initial current in each branch of the circuit.

dv
b) Find the initial value of e

¢) Write an expression for v(t).
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= H.Find an express
below,L, = 10 mH,L, = 20mH and M = 5m

8.For figure below, L,

for vi(t) and v, (t).
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